Adda

e

UPSSSC

VDO

GET IT ON
Google Play

Previous Year Paper
(Re-Exam)
26 June, 2023 Shift 2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS,
‘ ONE SUBSCRIPTION |
@
70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
Previous Year 500%

ATTEMPT FREE MOCK NOW


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076
https://www.adda247.com/product-testseries/79075/test-prime?productId=79076

Adda247

— | &), W R/ T uelh il W wRked )

127

A Wt yRawt waim
Q Question Booklet No.

424409044

quifd / Maximum Marks 1300

e ” 3 A €5 AT 5 AeY LAY BAAMETT £IAMOT) £ AR 4
AT 8 SR ) 1 iy AT 8 A

949 / Time : 2 92 / Two Hours

BRAMIIIY B UATOTY RIAMITEY § LAMORT) SXAMINT 4A T § saare § - amemey

TAMRIN UMD Wm0y Wb sy s 1
e

59 A AN FAMEICT) ESAMEY (A WA | AAMITT) §imy §SAMAYEY AAMBRD § AN §5a0rm ) | smarom - sarmy

SATAIR, IO TS W AT SIGHi, Yot e, 5 YRamT 71, T 675 B8 (05 a7y
Hld /N dfd @ 1 A 7Y

SNTAIR. I GG A w1 GRTd1 w5 ) era Wil w7 W Gdar TRV Ter angr Ry
sraeff W@ STRerR) B | i

Please fill all your entries like Roll No., Registration No., Question Booklet No., Exam Centre Code (of 05 Digits),
Examination Date and Shift etc. very carefully on the OMR Answer Sheet, using Black/Blue ball point pen,

Filling wrong entry of Question Booklet No. in OMR Answer Sheet will cause wrong examination result and
candidate himself/herself will be responsible for the same. -
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At the start of the examination check your Question Booklet and OMR Answer Sheet and ensure that all the questions

from S.No. 1 to last S.No. 150 are printed and all the pages are present in the Question Booklet. In case of any discrepancy

the candidate should replace the Question Booklet and OMR Answer Sheet from the invigilator. No objection in this
regard will be entertained after five minutes of start of examination, ‘
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Answer all questions. Each question carries 02 marks.
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Only one answer is to be given for each question. Overwriting and marking multiple answers will be considered as wrong
answer. Leaving a question unanswered will get zero mark.
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There is a provision of negative marking in this examination. For each wrong answer or choosing more than one option, a
deduction of half of total marks of that question will be done. .
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Each question has four alternative responses marked serially as (A), (B), (C), (D). The candidate has to darken only one
circle or bubble indicating the correct answer on the OMR Answer Sheet using BLACK/BLUE BALL POINT PEN,
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Use of Calculator, Mobile Phone/Bluetooth devices or any other electronic gadgetin the examination hall is strictly prohibited.
If any such prohibited material is found with an candidate, strict action will be taken against him/her as per rules.
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::vandidatc's copy of OMR Answer Sheet to the candidate afler separating it
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Booklet along with them.
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51. fr=fafeg s FeAT ___('/(_A,)AB)’ (C)3ﬂ’( (D) ﬁgjhﬂ.
i RumgyEA s Idal oo, oy
7% Klaplac 31 %m"L““'huhda In the following question, choose ¢,

52.

53.

placrick =1 318 R halida %
rickrum =1 19 8 beach perform

rumkla o1 31Y 3

Study the following informa_ti(c)g

gagetully and answer the question g1V
clow,

Here are some of the words translated

from an artificial language :

If klaplac means filmy holiday

&acnck means holiday beach
«ickrum means beach perform

rumkla means perform filmy Y
Which word could miean “perform athletics™ ?
(A) placrum (B) rickkyut
(C) plackla (D) rumstrow
HETHAT & g
F oft, e R a8 g e 30 firfe 118 &
il | 378 98 WH 4 EEEE
5T g ¥ & T | Il wd g R 7
Inagine that your watch was correct at noon,
but then it began to lose 30 minutes each
- hour. It now shows at 4 P.M. but it stopped 5
hours ago. What is the correct time now ?
(A) 1:00AM.  (B) 9:30P.M.
(C) 1:30 AM. (D) 11:00P.M.

2t 118 I ATl # A 36 T BT B
foraii wea Frepfa wfafea € |

From the given answer figures, select the
one in which the question figure embedded,

p :m‘fﬁl / Question Figure :

I ATpfadl / Answer Figures ;

B

correct water-image from alternatiy,,
(A), (B), (C) and (D) for the figure (X),

X)
oy

55, afy + @11 —, x 1 1 /, —Fad+
st / w1 a1 x g, at Fr=fefaa sm &
I TG hIf

If + means —, x means /, — means + and/
means x, then find out the answer of the
following question : '

(48 x 6)/4
(A) 36
(C) 34

(B) 30
(D) 32

afe ‘when’ W1 a7ed ‘x’, ‘you’ I aref “+,
‘come’ &1 Y ‘IR “will’ 1 7Y +
&, T “8 when 12 will 16 you 2 come 10"
1 HTT =T BT 2

S6.

—— () If ‘when’ means ‘x’, ‘you’ means '+
(A) % (B) ‘come’ means ‘-’ and ‘will’ means ‘*"
e ] | then what will be the value of “8 whe"
r_;_aglj Ty 12 will 16 you 2 come 10” ?
© | (D) (A) 97 B
ol —— R
e A (©) 70 (D) 80 -
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To the following question four probable
answers have been given. Select the most
appropriate alternative as the answer.

" If you are a manager and one of your

employees is not working properly, as a

manager you would ;

(A) talk to him and try to find out his
problem. |

(B) try to develop the man’s abilities
and interest in another job.

(C) fire him.

(D) give the man two weeks to improve.

frfefad T 3 R @TiEa IO T T

§ | I F w9 ¥ waifvs 9w fashed @l
Tg4 it | :
3R AR 3 STt 3Tt 9 Y el

# Sty T 8 | 31 -
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A % ToTU T TR A |
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Wﬁﬂaa?tﬁu_ﬁﬁ ot
(€) q FeE H |
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To the following question four probable

answers have been given. Select the most

appropriate alternative as the answer.

Your maid has invited you to her

daughter’s wedding. You would-

(A) congratulate her and make up some
excuse for not being able to attend.

(B) buy a gift for her daughter and help
in wedding. .

(C) completely ignore her.

(D) attend the wedding.

59, ¥ \wen gt Py 3 % fog Prafafea 3

} FrE %U4 %1 Iv PR s ama R 7

%mﬁxmvmm
T

(A) |HET & TE 6w R )

(B) X VY 1 ereem qamgacd 71 |
(C) X 3 Y ZHi 15 F o £

(D) X 3 Y e € |,

Which of the following statements can be
used to take a decision on this problem ?

What is the product of two natural
numbers X and Y ?

(A) Problem cannot be solved.

(B) LCM of X and Y is 71.

(C) Both X and Y are multiples of 15.
(D) X and Y are distinct.

0. Frefufen S #0339 A=

fou U WA HTIWE

Uiz Ea Rl 13T F

W % &9 # =R frem @ ¢ | fw D2
H9 Al D4” weal 2 7% “take your shoes
out” | Rt fam “B2 Al C1 A4” F&al 8
% “take instant right tum” | 8% TG
fem “c3 p1 D2 C17 e @ f% “jump
on your turn” | 3f@ # fram “B2 D4 K2
C3” gt & % “jump out instant again” |
‘take right movc’%%‘léﬂﬁﬁ?ﬁg@ﬁ I
Read the following information and
answer the question given below it :

A few kids are playing in a park. They
make four rules as a part of a game. The
rule “D2 HO A1 D4” states that the person
would stand up and “take your shoes out”.
Then the rule “B2 Al Cl A4” states to
“take instant right tun”. After this the
rule “C3 p1 D2 C1” states that “jump on
your turn”. Finally the rule “B2 D4 X2
C3" states “jump out instant again”,

Find the possible code for ‘take right
move’,

(A) A1F1 A4
(C) A1P1 A4

(B) Al H9 A4
(D) Ad AL X2
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Pooja, Queen, Rohan, Suresh, Teena,
Umang, Vivek and Willa, eight friends
are seated in circle facing each other.
Vivek is third to the right of Queen and
second to the left of Rohan. Queen is
second to the left of - Teena and
immediate right of Suresh. Umang is
between Queen and Teena. Pooja is not
at the left of Rohan. Who is sitting to the
immediate right of Willa?

(A) Teena (B) Pooja -
(C) Vivek (D) Rohan

= fu mu v °, ger $ue & Wi 9
T feu mu £ | fu e | aifhe &

B Fafia arai 6l T AL 61 T0= H |
FYT A A AR, MRTAIRE R |
a. ??@IZ%I.\/

b. FATERI o

c. FIROHAINMTWRI_~

i TR ATE O

In the following question, the main
statement is followed by four sentences.
Select a pair of sentences that relate
logically to the given statement.

Statement : Either the train is late, or it
has derailed.

a. The train is late.
b. The train is not late.
The train is derailed.

c,

d. The tram is not derailed.
(A) bc\/‘ (B) ca ¥
©) aby( (D) db.)L_.
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(B) 10z, 3wt
C) 104, qd (D) 15 Hiex, Im
omt A is 30 'm to the east of point B,
Point C is 10 m to the south of point A,
Point D is 15 m to the west of point C.
oint E is exactly in the middle of the
points D and F. Points D, E and F lie in a
straight line. The length of the DEF is
0 m. Point F is to the north of point D.
Point G is 15 m to the east of point F.
How far and in which direction is point

G from point A ?
A) 15 m, East B% 10 m, North
C D) 15 m, North

15 Iﬂa%’g

%
3 fopa %

10 m, East

(D) T, I 3R 701 & 9 2

Paresh, Qasim, Ramesh, Suresh, Rushar,

Umesh, Varun and Wasim are sitting

round the circle and are facing the centre :

1. Paresh is second to the right of

Tushar who is the neighbour of

Ramesh and Varun.

Suresh is not the neighbour of Paresh.

Varun is the neighbour of Umesh.
asim is not between Suresh and

glasim. Wasim is not between

Umesh and Suresh.

Which of the following is correct ?

A) Umesh is between Wasim and Suresh.
gB) asim is to the immediate left of
asim. Diia?! s
(©) Pa‘;Sesh is to the immediate right of

im.
(D) (l%z?lflcsh is between Umesh and Varun.
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Study the following information carefully §

and answer the question given below :
In a certain coded language, ’
! means East
? means West
& means North
/ means South
" Note If two symbols are/ given

simultaneously, then we will /consider
both the directions.
For example,

&! means North-East
/! means South-East W

A man starts from point é(/g d*moves
towards east. After walking “for a
distance of 20 m, he takes a right turn,
and walks for 20 m, then he takés a left
turn, and walks for 15 m, after that he
takes a right turn and walks 15 m more.
In which direction is the man facing now ?

i1 ST SErE fm ol wferenfia Hft :
Select a suitable figure from the Answer
Figures that would replace the question mark :

qauae tﬂTiiFd?ﬂ/ Problem Figures : I
£ » N ? |

IR Tl /
< < ey

el o
%2) 3) @)

i 5
'()5 B)

Answer Figures :

e

67.

© ) &

TS TG : TIEed « : FHER-13 -
(A) THETEH (B) Hitsan
©) (D) &IEH
Aircraft : Transport :: Newspaper : ?
(A) Newsroom (B) Media

(C) Typing (D) Publishing

68. 2 feu T IvA H & WA 3R 39S A= @

YT A B &
e e e e o
| w147

3% : J, P & e S waifta 27 7.._.;
Y ; 4
i rul ) ]

Rraw s aa s afemi € i/
(A) ARNIIMAANEER | ¢

B) ANIJMNTIER |
(©€) %ﬁ%mmamnmm

|
(D) II 37oheTt YaTH & SEfh 1 ehell TATH
TR

Question below consists of a question and
two statements given below it. You have to
decide whether the data provided in the
statements are sufficient to answer the :

uestion :

—

uestion : How is J related to P ?
Statements : "
I. M is brother of P and T is sister of P.
Il P’s mother is married to J’s husband
who has son and two daughters.

A) Neither I nor I1 is sufficient.

B; Either I or II is sufficient,

C) I alone is sufficient while 1I alone is

(D) 11 alone is sufticient while T alone js

(A) ? (B) ! not sufficient.
© & W/ = ) not sufficient,
@] wc 9

KK2
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69. mmﬁ,@ma}ﬂ(gqq&;

R AR w1 gy R o §

TR T8 T HT & o weEi #

T 3 T HIW 3 FH forw qaig R

T FUE R RS 9§ 3% T wE e

ﬁ?"ﬁmwwiﬁ%ﬁ{_gﬂ:m/ﬁ

FYH FH R/E | -

o 7 femn man =afvw Rty & fvg won

wafm 2 -

(L T A SR g W g, R
N Dk T

_ " oy

1L o 3raa amar-fan i geeltd gam
21 J

1. T 6 3R gom0 e g i 3 =520,
e o w1 R

(A) 79 | HiE T

(B) waet 1 311 93w & |

(C) I | TaHE |

(D) FaA I TEHE |

In the following problem, there is one
question and three statements I, IT and IIT
given below the question. You have to
decide whether the data given in the
statements is sufficient to answer the
question. Read all the statements
carefully and find which of the
statements is/are sufficient to answer the
given question.
How is the man in the portrait related to
Jignesh ? S5 _
I. Pointing to the portrait, Jignesh said,
“He is the father of my mother’s
only grandson”.

II. Jignesh is the only child of his
parents. A3 .
11I. Pointing to the portrait, Jignesh said,

“He is the only son-in-law of my
father”.
(A) None of these ;
(B) Only II and 111 are sufficient.
(C) Only 1is sufficient.
(D) Only 11 is sufficient.

e LELE LT E N L L U Ll L - -
) rae
Lo

foin 351 T B i B 1 T e
W 13% 3N ABIEA FFES F |50,
IETEA el & | AT F o T o 35,
#fe sifvifia e famn man a1 2050 7% Farm
Tt sHrale et 1 17% IedTeT B |
frafafias & & =9 @1, 7fz 79 2, 3w
TR § e 1 FHHANL HLAT 8 7

I Tt Afvges wET Icasia &1 Haw

g AT 1.2% 2 |
5% II.

2020 T 7 HeHL a1t §94 e JT T
AR AT FI B H IR |

1. T & fore sge oy oo, siatga
agfl w1 g @ fEm %

IFER, T Tferhi = 7ie gt & ar
F TE HH & o0 Iga=w w=ifyd
e €, S 37 SE= mEw Fd 3K

BIEA ¢ |
(A) B LRI (B) et [ IR II

(C) FEAI AR (D) waet 11 3R 111
Shipping business is quite dirty. Burning
heavy fuel oil, shipping industry
produces 13% of the world’s Sulphur
emissions and 15% of its nitrogen
oxides. And by 2050 ships will be
producing 17% of all carbon emissions if
left unregulated, according to research by
the European Union.

Which of the following, if true, weakens
the argument in the passage above ?

I.  Shipping accounts for only around
1.2% of global carbon emissions.
Demand for low-Sulphur fuel oil
and marine diesel is expected to
reduce in 2020. :

As per rules brought in by the
International Maritime Organization,
the United Nations agency for
shipping, ship owners have installed
equipment to clean the dirty ballast
water their ships suck in and
discharge.

(A) All1, IT'and 11T (B) Only I and III

170,

11,

[1.

(C) OnlyIandIl (D) Only Il and III

aump) pan &

10

p O
\'\
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7 Jre 3 A 4 3 3 e ar R A § 74,

72.

73.

-----

3 e Y A YT Ok @ T £ad Y] A RTY A RS (AN

ey o
...---.-..-n-u-nu«.n-u-np-

R —" i
T i e o o A g
IJ'?FEQ?E:&% A & | o W

18 TAC B o e
It is between 3 pm and 4 pm and the
distance between the hour hand and the §
minute hand of clock is 18 minutes :
spaces. What time does the clock show ?
(A) 3:36 pm (B) 3:31 pm

(C) 3:12 pm (D) 3:27 pm

i

21 fRydaR, 1987 ) THIE I M @1 fe om 7 ;%

(A) VHER (B) YA
(C) ™R (D) |HER
What was day of the week on
21 September, 1987 ? o

(A) Saturday (B) Friday -
(C) Sunday (D) Monday
O TR 1 RN W B A e

7z & T STl & Fad I W SH

a0 % a9 A JI1-377@ A

TTET | 36 foTT Shefet IcaTg] 3T FIl |

HTH A & T 3 A <h A1 TEhI

%1 \fsra yrfier = STavashal g 8|

qfeeg 3= a8 | TUF AT @ :

(A) BT i Foebeq WitedT 1 3] %8 4
U TET FELE | ,

(B) YEUH HI AT A A A H A
FAT =TT | :

(C) IeqTeA T AE] YT WA G |

(D) 31 a1 feAi #, Tad e AT
FTeh e Hrered ar |

The basic Rrinciple to expand your

business is that the company should be

more service-oriented rather than focus

only on the production. This requires the

active participation of the managers with

the other people rather than just working

on the products and the assemblies.
The passage well describes:

(A) None of the options

describing the passage.

(B) Managers should be good at talking
to people.

(C) Focus on service not on production

(D) In the upcoming days, the most needed §
factor will be interpersonal skills, = §

is  well

SRR b A b

GET IT ON
Google Play

11 vae BT AN NI BRAUINT) Kk ) DA T DA AN v, L —

wh gerRiT IO A FENHA A
m%,ﬁ@ﬁuﬁmwaﬂ%gﬁ

w7 |85]16|36/04]19]97]63]09
o1 |97]85]16]36/04[19|63|09
11 : |97/85]63]16]36]04]19]09
i : |97|85]63|36]16/04]19] 09
SOTIV : |97|85]63]36 19]16[04}09]
s v : |97|85]63[36]19]16] 09 04]

(fRu T 3ge & fore = v sifm =wor 2 1)
foq T T ¥ for Pt § @ @ A

 ifem =T g 7
F92:- 03 31 43 22 1109

(A) FHAHEE (B) [II

(C) 1V D)V

An electronic device when fed with the
numbers, rearranges them in a particular
order following certain rules. The
following is a step-by-step process of
rearrangement for the given input of
numbers :

Input: [85[16(36(04/19]|97|63|09
StepI: |97|85(16(36|04[19|63 |09
Step11:/97|85(63|16(36/04|19]09
StepII1: {97|85|63|36|16{04|19{09
StepIV :|97(85|63(36/19/16|04|09
Step V. :[97[85[63(36/19(16{09|04
(for the given input step V is the last step).
Which of the following will be the last
step for the given input ?

Input :-03 31 43 22 11 09

(A) None of these (B) 1lI

(C) IV (D) V

i
1900 K 1) Rraning) A1)l v

KK2

Q
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D 1011 A TN I A ) et B T R R A T e T

;5 wﬂsﬁzaﬁm: X, Y 3t z i @ e 177, Fefafaa seemh w e st sk 5
T QW T € 9T e T i ¢ | ﬁ“émmwmé}m;
TR et 3§ A A ST foer § - e, spomer, s, s o

HA T (@R T) 78 dar Ram | i, Forer & e 8, B T A ey |
A sheet has been folded in the manner as Tk gt o ¢ |

qad
shown in X, Y and Z respectively an 3 e B AR TR 1R e R AR
punched. You have to choz)sc fr01>1,1 the 3133' gméﬁqmamﬁgh
alternatives how it will look when unfolded.
, &A)ﬁawﬁwﬁs) g (C) Fel (D) T
\ 7 0_0 ead the following information "and
{ answer the ?ucsthn given below it :
X ¥ There are five friends - Sachin, Kunal,
Z IS\'io?ll_t, A,nUJhand Rolinlan. Ty O
4 achin 1s shorter than Kunal but taller
(A) (B) than Rohan,
ilvire Mohit is the tallest.
»% Anuj is a little shorter than Kunal and
(C) g O [F | little taller than Sachin. )
- VXho I1)s tallienratgan Atrlllj gut sshort}?thanMohxt?
. ata equate achin
76. Trafoed woa & wem fen mn @ s gw {cg Kunal §D§ Rohan __
A % a1 e Ru e § | freedt A wg 178, 50 B I T A A, 18 X T %, 26

3R R fauif ot fos fog o Prepst 6 & | Hapa ofd € 3 2 het iR Hepa o € | e
S 1 WIS T4 Tl i 3UeT i g fen T o S 1 1 T a1 R AE o & 7

Y F ITET BT In a class of 50 students, 18 take Computer, 26
;TQW{ %%W%H\ﬁ?ﬁ‘eﬁf{@r ~ take Sanskrit and 2 take Computer and
s - Sanskrit. How many students in the class are
2 A fFER TR | not enrolled in either Sanskrit or Computer ?
ey (A) 12 (B) 10 (C)5 (D)8

I %m gi\_ﬁjm T E A B {79, freoed # &g i a st ey

'_ - i gy i 3fies difehs als :
IL. 7= ferem garg 31md 8 X Wi e, Y
(A) TAIARAR M IO ST | icirof the wing diagram

(B) TR mm% | : r?prese{lts_ relatior;lsllmip_ar?ong the given
elements in a much logical way :

E[C):g Haa feHd il:ﬂw Ll %%il - ‘Sports channel, ten sports, neoysports

In following question statement is given (A) @ (B)

and the statement is followed by i Q0O

conclusions. Read the conclusions and then } © C@O (D) O

decide which of the given conclusions {80, 3@ afed H g S fXu MU w6 e

logically follows from the given statement, V) ﬁaﬁiﬁw%m 2 I
disregarding commonly known facts. Choose the box that is similar to the box
Statement : Some¢ people say that bad formed from the given sheet of paper (V).
thought comes 10 their mind when they o
try to sleep. -
?on%ﬁ;}o'}:\;’ people see bad thought @ w @
" while sleeping. , , _ :

ts come in the moming. @ ® © . @
Ik) ﬁgi%}?gflﬂzloourg]hl follows. (A) Hhaet (d) (B) %T:lﬁ(b), (;%:ﬁ( ()
(B Either I or II follows. (C)had (a) 3N (b) (D) Had (c) 31K (d)
(B) Only conclusion I follows. §Ag §d) only éB) éb), (c) and (d) only
(S) Only conclusion Il follloxys. ; ....,.C a) and (b) only (D)(c) aqd (fi) only 52

g pusan pisanu 12 O

aaw X
.nw"""‘"".
o
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3Tt T T A R 1 37 A U ad we
et ag 12 T4 uge 3y K g @
STt | &% 3T fhaR | W R 9

(A) 27 €S (B) 259«

(C) 20 9T (D) 22 9@

Today is Varun’s birthday. One year
from today he will be twice as old as he
was 12 years ago. How old is Varun
today ?

(A) 27 years
(C) 20 years (D) 22 years

R fu e e § U e R, Fad A d
T 1 30 11 Ry e § | st @ e @ 6
@Hm/ﬁﬁwg:‘ﬁ%/h

E e O o L R D o | 2 L
21 Tl S TUH €Y 4 RIEA HET A6
1 ST T ST 1R e <
T H Heg o ¥eh 7

i, ¥ W rferes Rfdd s S
RN 1 B o B B e

q
i g |
[ ¥ st Rrfie s=wEn ST <R |
T AT ) I | o 8 s
bl
(A) TRARIRAR TG E |
(B) A AN LA I HSTq & |
(C) AT e 1 T R |
(D) afe et 11 79 2 |

. .

In the question given below Statement is
followed by two arguments I and 11 You
have to decide which
a ‘strong’ argument :

(B) 25 years

of the arguments is { .’

Statement : Should parents educate both
their daughters and sons equally or the sons §
must be made more educated so that they
can help in financial matters of the home ?
Arguments :
I. No, sons must be made more

educated as they ar¢ more intelligent

than daughters.

Sons must be made more educated
since daughters get married and go
to another place. '
(A) If neither I nor Il is strong,
(B) If either I or Il is strong.
(C) If only I is strong.

IL.

--------
TSI BRI L 1) G Bk 1 i 1 R Y B Y

83.

4

84,

(D) If only Il is strong.

GET IT ON
Google Play

nnnnnnn e —

.y

frfefaa w o wh wu % W @ TH

faw o & | o 7w @ wen § f o @

Y |1/ T worga R /% |

o ;T A ¥ R wh T wm

g B =Y ?

h

I &, 7 Frh wriard @ w9 Hem A
e 3 forq wreHg & |

1. &, =g ik e 3R e g g |

(A) 13011 St Ao € |

(B) AR INAD Ao 8 |

(C) Fael % [ 7eq 2 |

(D) Faet 7 11 AEq & |

Following question consists of one

statement followed by two arguments.

You have to decide which one of them is
stronger.

Statement ¢ Should all government work
for job must be online ?
Arguments :

I.  Yes, this will reduce p%;{(w k and
beneficial for environment.

II. Yes, this process will be transparent

and corruption free. ‘
(A) BothIand {1 are Vo.{{ fake Tee
(B) Neither I nor Il is strong.
(C) Only argument I is strong.
(D) Only argument 11 is strong.

09 4 7§ o i g e g R 2

How many total triangles are present in
below given figure ?

11 g Gnau wan it
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FATEHR N’ & 3 § d H WS 8 | N’
TEE IS TR 1 ‘O’ I F SF e 9312 |
‘M’ :rﬁpf% l ‘R,, ‘M’ H]

T 2 1S’ AR 1 e TRt T & |

Read the following information and answer the

uestions : - - _
gQ.No. 85 & 86)1_: Eight colleagues- M, N, O,
. Q, R, S and T are sitting around a_circular
table facing the center but not necessarily in the
same order. Each one of them hold a_different
ost - Manager ,Compang' Secretary, Chairman,
resident,  Vice-President, . Group-Leader,
Financial Advisor and Managing Director. ‘M
sits third to the right of Managing Director.
Only two peo_ﬁgle sit between the Managing
Diréctor and ‘T’. The Vice-President and the
Company Secretax% are immediate neighbours.
Neither *M’ nor ‘T’ _is a_Vice-President or a
Company Secretary. The Vice-President is not an
immedia%; neighbour of the Managing I‘)lr,CCEOI'.
The Manager sits second to the lett of *Q’. ‘Q’
is not an immediate neighbour of ‘T". The
Manager is an immediate neighbour of both the
Group-leader and the Financial Advisor. The
Financial Advisor sits third to the right of ‘N’
‘N’ is not the Vice-President. ‘O’ sits on the
immediate right of the Chairman. ‘M’ is not the

hairman. * immediate neighbour of ‘M’,
%’ is ng? hglzin:%%%i%mighbg;u of the Manaaglc;:_r. .
: T & MU
B e e % & e £ 37 3
m@a{saﬂ%% | 97 @I |1 8 I
g gafud 781 8 7
?ER- (B) P - B51

| C) M - fariia getreshi (D) N Hﬁ’?fﬁm
ee of the following four are alike in a
ertain way based on the given arrangement
= d thus form a group. hich is the one
hat does not belong to that group *
: A . Chairman
nager _
g PM-.I\[/:I'?nar%cial Advisor

i
3
DU X TS T TR X CR M AR e TR (X -

88.

89.

x
D i

87.

d’%‘ﬁ‘ﬁ_r'nark
Z H‘)_"f

TUPLD

Eouk)

&uestion followed by
Statemen
Assumption I : Delhi and

AssumFtio.n 11
0

GET IT ON
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L LT L L TP rp—

A 7T Nk wree % Hay § Pt §
RIS KA
(A) HU % =P &y FRwes * aerm
(B) 74 ‘ ~gfea aere TBH E |
(C) £ Fﬁaa@;nﬁ?ﬁm

Jeil e |
(D). °S., ‘P’ % 2 & ot AT T Az R |
hich” of the following is true with
respect to the given seating arrangement ?
(Af The Chairman of the Company sits to the
immediate left of Managing Director.
(B) The Group Leader and the Company
Secretary are immediate neighbours.
(C) The Group Leader of the Company
- 1s_an_immediate neighbour of the
Vice President. :
(D) ‘S’ sits second to the right of ‘P’.

I L FT 3747 10T 2
hat_letter will come in place of

D

O = ey
S+1ot 12 =

ot (6T [0 = 20
Q\;@;%g »t & “@%@ :

Y 8§ T HUT T
N ) .
ﬁw%agﬁaﬁ LS o
e g T feeeht &
T ?a?%magg 4
T 113 ot 3 e s
A)?ﬂ%ﬁﬁ%{é&aﬁ%l
EB)IaﬂUI'qﬁaiaﬁ%a?l |

(C) WImz‘%ll |

(D) w11 afHea e |
given 1n the followin

¢ statement is
( two assumptions. Mar
¢ most aptpm;gat% option :

(8] airplz 1
to Chennai toyreal;% erzﬁcirlc;m e

Chénnai
connected b¥}a1r services. e

1€re is no other means
oing from Delhi to Chennaj.

ing Director
. Managing
D N -.-ul-wl'.‘:l-—l-‘:llu'nnl.a.,.‘,_‘u

o
"
s
e 44

PrTL
-

A) Neither of them is ici
B) Both I and II are inl:;]; léli?t'
C) Assumption [ is implicit,’
D Assumptnon Il is implicit.
TEE H W Y § § R
?‘F qG 5 R 8? e
ow many 8’s are there i :
Séegleg \5‘/121;1%1 grg lénglediat;lglr}'o}?()e\vgzil lt?WSm‘.g
885888 8855858558558 85
) 20 B) 214 (o) i M)
O
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(A) Neither I nor II follows.
(B) Either II or 11I follows.
(C) Only I follows. ,
(D) Only II follows.

T g 1 e A € = & T
sTEer % forg e 9T 1A Hf:
Find the missing number for lpe!ow given
series following the same logic :

o e 4 O G T ) T T S ) R ) (I3 T R () € e

1
16,48, (2), 72, 36, 108, 54, 162, 8
(A) 39 (B) 34
(C) 28 (D) 24

o 21 B 23] B b Dm0 U

p §an J0ID BAAD 21 G540 0000 LASBIRY . l 5

—

il

N oa )
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e H, %ﬂﬁ e 10 0 ¥, frrs are i | R .4, 92-93) : Frefafaa s &I I
Frepd 1, 11 3N TQU T E 1 Syreny eperl ot | 5y o . 2
: ' ' _ £ 9 v 3 fou o i 6 I T

aa TA &, M € 9w ael A fig | e Y \ 5
o &R B | TR T 3 R s R | WATAP,Q.R, S, T, U S Ve a0 8 |
el Hf & I T, AR B R, Rw o e | 1 fepe i 21 A o AT ek 7E firerd ¢ |
T AT T § | ST I 3 =t | {11, V BRI P H 315k 3 JTH AT 2 | @H
T R & FIV. P gl Q & ifire 37 ST U 2 |
a;a“@.é ig“i_g”.al%‘ V. mwma}}gm;ﬁwmm 2
g’;;_ﬁ Egai%l i vmaﬁwﬁmm%mm@
P’y 1 ehfos T H S 3 g9 AH AE TH_
I ﬁi AL ; fh0 3 U 1 Q 3 wad &w 31 Wi T |

: mﬁ“”a‘fwhq; %', ¥ ! Direction (Q. No. 92-93) : Read the following

II. 9 1 ; information carefully and answer the questions

1. <I§ feht TR &I 2 | ~ that follow :

(A) T 13T E 1T STTE HE@T R | I. ~ Seven students P, Q, R, S, T, U and V

(B) a1 11 AT 11 STET hiell 2 take a series of tests. ;

©). 'm I m T E | - II. No two students get similar marks.

D) 3aa @i Ig. V always scored more tha.n P.

In the question, some statements are given, IV X Iga:;v ?;:Zi:igore t}:inﬂ?'h. s
followed by three conclusions I, Il and ¥ ** G sr v sk

I1I. You have to consider the statements T gets the least or alternatively § scores

to be true, even if they seem to.?e at the highest and U or Q scores the least.
variance from commonly known facts.. : S

variatice KoM A oRiuh of the given| 92gud Rl T slim sw Pt AV |
conclusions, if any, follow from the o gd A g1 &I SIEY : :
given statements. Indicate your answer. 3 (A) uteat T(B) e A
Statements : C) gau (D) o "
gggefﬁgoiziizseafogi(;ks- B zets the most, V should, be ranked }
_ Sy 2 ot lower than |
éhlnec-ll:lc;?‘l)('s‘ safe magazines. i arsl Ay (B) fourth
iy b’ook.is i : (C) second (D) third \

II. Some magazines are paper. 193, ufy V o wyE ufwel }, A S %f
I1I. No magazine is paper. wl an B\ |

<
(A) QA WAWE | “F
(B) THER WM MR |
(C) S ITAW ThIT AT 2 |
(D) R @ &I W R |
If V is ranked fifth, which
be true ?
(A) Q is ranked fourth.
(B) T is ranked third.
(C) S scoyes the highest.
(D) R is rhnked second.

i ) e ) A b

of th?Sc igust

-
wans s 1

KK

zr'.;

a7 s ) B a1 M50 €A 0 60 s Bb e G



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

94.

9s.

.,.uw‘""

™

fobw s i, angpfar Frafifiaa wer angfa

%Mﬁ‘mm}rﬁ ?

In which answer, the figure will
complete the pattern in the following
question figure ?

”@@b

(A) @/ (B) \@
© @/ o|Q
TEre T H iz Teks T 3 R |

SR T T AGE R | T A =
forremt = wrer ok o 2 | Y S @
I 1 & 3R Tfrer, o e 2,
e i et T R ol T, it
TR T B | 378, T 1 et TS 2 |
g1, =81 & fore TR dafta 27

(A) ¥=ttEggd (B) ¥R

(@T (D) =i

In Rathore family Gajendra Rathore is
the owner of house. He is married to
Puspa. Puspa has two children and their
names are Sneha and Raman. Bikram has
married 'to Sneha and Radhika s
Raman’s spouse. Neha is the only girl
child of Sneha and Radha is the only girl
child of Radhika. Aman is Radha’s only
brother.

How is Puspa related to Neha ?
(B) Aunt

A) Cousin
; dmother (D) Mother
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H @ Jeqren i e 9 Tafer 73 1

HA g, Trast 314 fod @is daq &
I8 e | 5 fufer @1 w9 @ |
BT 1fe5, |1 61 @lig e A w9 4
SIS & §ehell @ aiteh read &met 3
Y 51 1 w2ty 91 73 @, St g,
% 54 91 3 Y@ dered 8, 99 W 5w
fri & | o oft, st ) et sweran 5

IR fifer 27 @ arfirss i w3 wd
2 | A 3R T T w2 |
Wi H1 ga e & T ofeed 2w i
3= X | gafsa wiemer e & \,, j/
(A) it w7 3 7 M’;zw
®) Ryl (L
(©) PR s T # [T L8 LA
(D) ST AT E | /
Study the following passag
and answer the question :

There is more bad news on food
front. It now appears certain that there
will be a shortfall of about 9 million
tonnes in the food production in the
current Kharif season, which in tumn
means 5 million tonnes less than the
production achieved in the last kharif
season. However, rice procurement may
only be partially affected since West
Bengal and Andhra Pradesh have had
sufficient rainfall while Punjab, the
major contributor to the central pool is
less dependent on rainfall. Still, the
overall availability of rice may go down

by more than four million tonnes. There
may be worst news ahead.

Western countries have well equipped
laboratory tests to detect rabies

(A) Definitely true

(B) Probably true

(C) Definitely false

(D) Data inadequate

(c) Gran s i v
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g0 & 1 1L 31T 3 i~ ey I wfeh " 2. wﬁ%'f*’-' g
o SR IR T I WU G W
63,000 ST Teamert B § wah whog 3 | Arrange the words giv
f wAR, Yoy dﬁ?q‘L’ ‘ meaningful sequence : LR
- . ‘IFﬁ\.aﬂ“( wel l. Presentation 2. Recommendation
Ok TE R 'Wﬁ?ﬁw THH 3113 T} 3. Arrival 4, Discussion
¢ & CP1aT R 277 Sy oduetion g 5,31,2, 4
%;q%——g\g;ﬂoww’} () 3 51, 4,2 §Q) 354,21
T BT Ffl 5 99, ﬁw;ﬁﬁmﬁgﬁﬂnm@aﬁaﬂaﬁz
HETL AT E | 2 R Arrange these djl in alphabetical
A) I 3TIh! ST Wﬁm.%or and f{ell the(gslddle gprd/”
& TTid & gIciiich 16U T qe2 e 3MTele | Qggi(tzy. QUi& Quiz, é))ugltlzrn S
ueen
SRR ECEY EC) Quality §D) Quick_
(B)_3fe fean T Se1 srvaie @ el fu i 00, e fou o s i e g i ad
T 24 | 3 Ig T4l *e aaj’% & ‘ \/a/ -
T anea: Tel & a1 e | & e s HPRODUCT &1 fa TR
(C) afe et @ & 6 e e %@I @Wf : oz s, AIEEE
g AL oV " BIFFF fmionan 1 4
g@t‘ﬁ (D) &g %W‘q*' e @ raiinlh I, U fidE g2 W H, GYPSY |
1@ gaﬁﬁ%a Tﬂm l %ORX mim%q%ﬁ‘ﬁ NERGIRGY
s TTETR el A) Tfe e 1 ARG
1 e Primary education in Bsi(l)xar is 1nt£:) ?ﬁ; ( b 2 1) B s F_fqu & 9™
| hape. Pupils in over 50 percen | SETH 3 |
:chgols regd in the open t_hroughl;)Ut “:g =) 1 1 o B | 3Tl T HYF
ear. Over six million children born 2 3 2 T T I F I
lower income ‘group parents romaln | JLERE A TS
n one A :
16J3nloe(t)t0er§rc}inl;lot Si;z)eools have facilmeil r?f (C) afe 3rhe U 18 ';‘} :]%W
ni ilet, drinking water T I Hel
ﬁ;rr?llenslreélltgl iew teachers have been ®) e T m/ ’
gppoit{ted in the current financial yeé‘ﬁ TRA ST 3L al I
out of which 2747 are WOER, DNON, 98 t§ Read the given below Question and
f the 13,270 primary schools have at statements and choose the correct answer .
? tt fwo teachers. ., How is PRODUCT written in that code
(?]aasssrooms i dOfugt]: 7o %angtiggg r'::ertain code language, AIEEE
schools/in Bier, 60 mafefgncc is probably " is written as BJFFF. GYPSY
8 122 g o dfintly fase 1 0} SO GRS
alse tno . 1S written as . [ & I
i the facts given. i.e. A) If data in both statements
(B) lllfgl:ltig fda?a given 15 ‘“‘{f‘i‘},‘,‘,ﬁt& ls:.gy ) together are necessary to answer the
from the fact weer?cg (i)s likely to be (B) l%lflzsi?aogi'ther in the statement 1 alone
whether the Inict . or statement 11 alone are sufficient
C tlrfue o falst?"i“k 1 iR I data ir thﬁ qufstl?gém | alone is
(©) ou ) t (C) If data in the state o
- ‘definitely true - is ‘probably i sufficient to answer the question: .
2 the inference 1S "Pro. : ta in the statement II alon€
Y gu)éout}?;gg; not definitely true if e i (D) gntgziaciaer':?to answer the question:
light of the facts g""-er_\w,_“]; ------------ coma e TKK2 |
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- e o 1106. “ferem wzH A g v o9
101, i3 Y e ) o fe A A fre AL T LSy
? (A) 27 9T (B) 18 31der

¥ d by
The speed of Modem 1s calculate (C) 1 R D) 18 7§
which among the fol}cl)a\)vn;:gprsﬂtﬁ “World AIDS Vag:cmation Day”
(A) BPS (D) CPS ‘ observed on which among the following
(C) GPS A da scvlg%ycar? Fi5
102. i & A §A 27" March gs) 18™ April
C) 1" December (D) 18" May

(A) RA T (B) WA BT 107 i s Aefefea § @ el
(C) TFH A (D) Feil B HE wEtag 7

Kullu valley is also knownas ______. (A) gad faemg (B) ™AIae Fififn

(A) Valley of Pines - % (C) 3TN T 31a&7 (D) @rer Jeam

(B) Valley of Gods Montreal Protocol is related to which one
(C) Valley of Ice among the following ?

(D) Valley of Flowers ; ~ (A) Sustainable Development

<
]

) (B) Global Warming
103. AT S &S 200 ‘ﬁaﬁé g s S (Cg Ozone Layer Depletion
7 ? o wemp 3 wriie e man @ 2 ~ (D) Food Security
(A) 5§ Fewit (B) fare 108. fFrfafaa d @ sz v @i e 7
(C) faswma (D) Towma . (A) 3fE w1 wnf (B)
What is the name of the World’s first (C) Fmegfe (D)
200-metre-long Bamboo Crash Barrier Which of the following is not a defect of
which has been installed in Maharashtra ? vision ?
(A) Bahu Balli (B) Virat A) Persistence of Vision
(C) Vikrant (D) Vishal . B) Presbyopia
104. T € H 911 3 wiHiey % fore aedt= C) Myopia

WIS TR (MAIA) Toere oo s D) Hypemetropia |
Wmﬁ 109. IARI (VR $f sqmum wwm) 3

27 Fratataa 7 0 rg wse g~ AcsicH
(A) ¥9 (B) .11, I S ST T ¢\
(C) seet (D) ST ; (A) 4% (B) ng
Recently NASA has partnered with (C) T (D) %
which Onel am}()mg the following §. In which among the following cities did IAR]
countries to launch Multi-Angle Imager dian Agricultural Research Institute
for Aerosols (MAIA) Mission ? = (Irn alna;e “’IhgrelPusa Krishi Vigyan Mela” ? :
(A) Russia (B) US.A. org . B) Iat :
(C) ltaly (D) Japan (A)) }’{“}E“:a‘ ED% I{j“P“B %

105. “saref”—fay ol wvr @ ww g |0 (©) Rajko g

- 8L, Jd9H H WRd % efeiag @'fllo.mﬁmﬁ@ﬁﬂ‘m’,?ﬁi

T fem g 7 fmferiad 7 8 T6d Uy i g 7
(A) nea wem (B) T (A) TS
(C) T (D) feamn (C) I (D) TRy
“Banawali”-a major city of Indys Valley 'Madhubani', a style of folk paintings, is
Civilization is presently located at which popular in which among the following
among the following stateg of India ? states of India ?
(A) Madhya Pradesh (B) Rajastha, (A) Rajasthan (B) Bihar
(C) Gujarat (D) Haryang i ' (C) UtarPradesh (D) Madhya Pradesh
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1. ﬁqﬁ{f@ﬁﬁﬁ?ﬁﬁ ﬁmzmmﬁﬁ‘«n@a@ 115, fy=ferfaa 0 o Brg g winda s 3t
=T[csd A ( 7}?{?{ ATl YRl ' - 2,

112.

113.

114, g1 R |faum

LTI

O

Golden Globe Race - the longest
sporting event in the world ?

‘A) Avani Chaturvedi {
B) Aarati Saha :
C) Abhilash Tomy ‘
ED Bhavana Kantﬁ

TR T S fefeea & A frw vy

s R

i N
Jquanren Pan Y Heuaing » -

i

RIEIGSIE !
(A) I SGIA | _(B) 3T T
C) AR T (D) W= i
who among the following is the first !
Indian and Asian skipper to complete tl;c ;

-] LT e O

(C) Tidsh (D) T

Which among the following cities of
Maharashtra state has started a new
initiative named “Beggar free city” in
order to accommodate homeless people.
in its shelter ?

(A) Mumbai ‘2B) Nagpur

(C) Nashik D) Pune
froffad § @ HF <RAm dwA DY
-7 B3 %
o RupiskRALE = e Tt o H B¢
(&) <. = e a1d (B) T IR

(C) Teie FHal (D) . 3TF0 A

Which one among the following 15 the
author of the book “India’s Vaccine Growtt
Story-From Cowpox to Vaccme? Maitri”,
who is also a civil servant of India

A) Dr. Sajjan Singh Yadav
B) Dr. Anshu Priya ;
(C) Ashish Kundra .

(D) Dr. Arun Thamburaj

freferfaa 7 @ fapaeh
T EEafeiiaad 91 ¢
(A) forsran et afsd
(B) areTETEd T W
() ’;’1; off, 3T, FFEASHT
D . . N
(Thz’- original Indian Constitution was ,h;md
written by whom among dt}w following *
(A) Vijaya Laxmi Pandit
(Bg Bajla)gaheb Gangadhar Kher
(C) Dr. B. R, Ambedkar

3 o s o R G 3 R (080 B AT

(D) Prem Behari Narain Ralzzf SO

e

e
Wi b s s s ) s i L s

Sl G i) oA

s D) B ) W ) R ]9
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(A) HezA qgram (B) e o #9
(C) it 3, warEnd (D) Tz 9
Who among the following is known as
“The Frogman of India” ?

(A) Suvendra Nath Bhattacharya

(B) Sathyabhama Das Biju

(C) Samir K. Brahamachari

(D) Jagdish Chandra Bose

mmﬁm’naﬁmﬁﬁﬁﬁaﬂqmmﬁagﬁé

@dm%mmm@m

T8 7

Which one among the foliowing focuses
the expeditious disposal of the cases
pertaining to environmental issues ?

(A) Compensatory Afforestation Act
(B) Forest Conservation Act

(C) Environmental Protection Act
(D) The National Green Tribunal

117, “ga <faw wra 3 Frafafea 4 3 &

e w1 9T A4 § PR 9a Ty fav
Wed @E (IS TR TaANE

e T o &9 3 ¥t AT T A
(A) eI (B) vggHd
(C) &=t (D) HISTSTHATH

“lkat” is the weaving pattern of which of
the following villages of South India which
was also selected as the Best Tourism
Village by United Nations World Tourism
Organizations (UNWTO) ?

(A) pochampally  (B) Pattadakal

(C) Hampi (D) Kodaikkanal
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18, Prforfea 3 @ 9w e ampa e 7 121 B R g e B T e

1 Ganm
t sy

A) e afe . - A TS ' .
(A) L : (A) Faft (B) =
(B) Enﬂ@%'('é' Haddyr il P (C) Aueh (D) 74T
(C) p:n“{aﬁf . a8 EEREUI (|3|a.31 Which of the following was the capital
(D) TREw A, - F ﬂzlqm : of Surasena Mahajanpadas?
Which among the following 1s an (A) Kashi (B) Champa
inappropriate pair ? | (C) Vaishali (D) Mathura
(A) Lingaraj Temple - Somavanshi 122. ﬁ"ffﬁ’lﬁé’ﬂ i g e = W 1818 § B2
Dynasty : AT § g0 T g YRl MrdE Fd
(B) Khajuraho — Chola P e A e 2 i
Dynasty E (A) ﬁ (B) wHicAahTal
(C) Group of Hampi - Vijaynagar (C) ga3 (D) FEHEETE
Monuments Dynasty : At which of the following places, the first
(D) Tbousand — Kakatiya Indian cotton mill was established by
Pillars Temple Dynasty Henry Gouger at Fort Gloster in 1818 ?
) : g (A) Chennai (B) Kolkata
119. ?ﬁ:ﬁi?ﬁ 2 A fpe TQ H AT BE O (C) Mumbai (D) Ahmedabad
» Fq 3 S AR 7 1123, Eu-Teh i i gEl ol v 5
(A) TEHQ TG (B) qEIXAA . foptherfian 8 fem T ST ST 2 7
‘é\hef)h/ich ax:?n the (tl%)llowin :Eﬁ is (A maﬁ"{ ®) 4
g g rivers 18 (C) mm (D) 37qyq

known as “Sorrow of Bengal” ? -
g The earthquake-resistant construction

(A) Mahanadi River (B) Damodar River . S . .
=y 5N « ol Dhaijji Dewari gystem is found in which
VDRSS (D) Goggvarl River of the following places of India ?

120. Hifaes sfreil % gay § Frafafiea § 8@ (A) Jammu & Kashmir

FHA YA EAR 7 (B) Tripura
(A) HifeTsh HAHR FAR TTpiaeh ATUBR & (C) Andhra Pradesh
# 3R FETaw TR £ | (D) Assan) .
(B)WWW-RM§@MIZ4.WW ¥ A frg deuTE B LI
g SRR E . TS TR A HI AR e
(C) Yo% ATies @i g H e 5 (A) W SETTE  (B) Bkl SCE
iferss iR fae g &) . (C) THHRATCTE (D) HISTAT HUTE
(D) sl H Shaw Which am‘cglr)lg thsafc;lll%\;;?’g?pons is also
TTaRTe & e & Freifeaa e own as “Deen ?
AL Vi ol ?X) Paradip Port *(B) Haldia Port
(0) Tuticorin Port (D) Kandla Port

Which of the following statements i 4 ‘ gt Tap e
regardin FundamcntaflgRi hts ? elerstl £77 2 ﬁqﬁiﬁﬂﬂﬁﬁiaiuflaﬁ 1905 ¥ e 3 3fean
B Funs S a199 - OTA P 1 T Y o 7

(A) Fundamental Rights are our natural .
rights and transferable rights. : (A) R eE  (B) Hen sfishrsit

(B) Fundamental Rights are based on : (€) WWW(D) et Him
age and are transferable rights, who among the following established

(C) Fundamental Rights are given as per “India House — a student residence” in
will of President to every citizen. London in year 1905 7

(D) Fundamental Rights can only be (A) Chittaranjan Das

suspended  during @  national (B) Madam Bhikaji Kama
emergency. (C) Shyamji Krishna Varma
(D) Madan Lal Dhingra

-
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126, T &5 3 ¥ 3k
@A qiEadd
The Reserve Bank has di?cctcd banks
and other entities to transition ‘
which rate ?
(A) LIBOR (B) FIBOR
©) MIBOI‘;é N %)) SIBOR
DRI et § P
1 ANA §41d G99 SIH § 1@y aﬁ%%ﬂ
(A) HIIcT AUHR Ty
(B) M) g
(C) gHIdI]
(D) T3 Hifa & fiews fagq
Which among the following is the ideals
that a state must keep in mind while
framing policies ?
- (A) Fundamental Rights
(B) Gandhian Principles
(C) Socialism .
(D) Directive Principles of State Policy

s & T AR TR R

C) 413 4 |

(D) o w |

The highest literary award in Indiais __ .
(A) Tagore Award

(B) Sahitya Akademi Award

(C) Jnanpith Award
(D) Vyas Samman

-

away from

127.

128.

aa,ﬁ@},@i

129. Tr=fafiea @ & fra g3
¥l A1 A1 2 7 ?
(A) F%ATE (B) =A
(C) Biicdiege . (D) ¥4Il ;
Which among the following 1s also ;
known as wood alcohol ?
(A) Methanol (B) Butanol
(C) Formaldehyde (D) Ethanol

130. W_m (-{_-aq H‘{Jﬂ?ﬂ ‘8113—
ol wrdew) %_feroechint & _feTg
AT Urrere G bl HEL LA
(A) §-Ta (B) -7
(C) $-wnifq (D) E-a9f&

The NABARD pilot project for digitisation
of SHG-BLPs (Self Help Group-Bank
Linkage Programme) is called as 3
(A) e-Samraksha (B) e-Shakli

A Y ] B e e T

LN ) -

i 135, dfiel = ) 5 ot = 8
dife

(C) e-Shanti (D) e-Samriddhi

4
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T F13)) w) fp | 131, o T@me g@maa (WHO) 3 gt € 3 fe
R e, L 291t #t et e yanforg fopan 2 2

(A) UTET S ATerrem
(B)

T AN 3@
(C) A I arfAfere
(D) T AN ATA
World Health Organisation (WHO) certified
which countries as Malaria-free recently ?
A) Nepal and Bangladesh
B) India and Cuba
C) Azerbaijan and Tajikistan
D) Cuba and Nepal
‘ 1 FT 9T G0HR =l RCS
ST < ded U %% I =Tl & ] T
?
(A) BT 7aTE T (B) A g4 3y
(C) SF diet gamé 37T (D) TIHE1T gaTs 37E0

Which among the following is the first
green field airports of the North-eastern
region of India under RCS scheme of
Government of India ?

(A) Rupsi Aixl'port (B) inlll?}llaari Airport
- (C) Donyi Polo Airport (D) Pakyong Airport
133. | S AGEE g)%t I 1 gl &I
Tod e 9 (A 8 7
(A) 3fee (B) WP
(C) WuREAH (D) N dreTe
Which among the following waterbodies is
the most Saline waterbodies of the world ?
(A) Pulicat
(B) Sambhar
(C) The Great Salt Lake
(D) Gaet’ale Pond
134, d-HeAT-Had ST e | 7 ferq
T fad TR 8 |
(A) TETS (B) dRIvrET
(C) I (D) TATRS
The Bharat-Kala-Bhawan is a university
museum situated at in Uttar Pradesh.
(A) Lucknow (B) Varanasi
(C) Agra (D) Prayagraj

afme
[ AT hal ATl % 7
‘ (B) aa@uqiy |
(C) die=mf@am (D)
Which is a work of Tamil Grammar that
is said to be the earliest extant work of
;[‘K;nlsl }Aterature ?
ilappatikaram (B) Valayapathi
(©) TolEapplyam (D) Mam);nekalai
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157,

136, “a7 @Y% 99 au° ofiw anufa aAhrE

frafifea 3 A ra s A dafta @ 7

(A) T (W STafaT STgHuT §71e)

(B) STUSTREY (MTHT T STEYTH &3)

(C) dEamdam-tdiue (A 3R
efis orgEum  uitwg-Td

B IRIEERDIUNI)

(D) famus (Mifaeh SrgEuT FEwTee)

“One Week One Lab” theme-based

campaign is associated to which among

the following institutions ?

(A) ISRO (Indian Space Research
Organization)

(B) BARC (Bhabha Atomic Research Centre)

(C) CSIR-NCL (Council of Scientific
and Industrial Research-National

Chemical Laboratory)
(D) PRL (Physics Research Laboratory)

“Frea B TewEE” Pl 3 2 frw
T | 1o foma T o 7
(A) deFTFT . (B) o

(C) dffemg (D) HAIeH
“The Kodava Hockey Festival” was held

T L L W ] L -

140. Frafafiaa & 3 e

] (T T e 3 790 @ i (O i (1
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n

8 Fra wem 3 T @ §
"t -20 FPA $5" T Tham e 9
(A) e (Mifeeht STeum s
(B) wauwd (fégem g ferfires)

(C) Tal (vrdty fafe e Hee)

(D) Sardian (e gevum v frem
HT3A)

Which among the following institutions

recently tested “CE-20 Cryogenic Engine” ?

(A) PRL (Physics Research Laboratory)

(B) HAL (Hindustan Aeronautics Limited)

(C) ISRO (Indian Space Research
Organization)

Rl (D) DRDO - (Defense Research and

Development Organization)

. Teifys, gy U= § geh HquYH

=37 9
G ue, a%_mr“‘ﬁ Erch:

HHT

W—EEWW (B) Hfcaan FmEte

(C) T&witees (g (D) @ifeaq assmaie

What is the common ingredient in antacid,

- mild abrasive in tooth paste, a constituent of

chewing gum, and a filler in cosmetics ?
(A) Magnesium sulphate

(B) Calcium carbonate

(C) Ascorbic acid .

(D) Sodium bicarbonate

at which among the following states ? 142, TEhr F= § 7 fF9 T w1 diE
(A) Telangana (B) Kerala Eila;:%;:% T
(C) Tamil Nadu (D) Karnataka (A) Eg)) HET Wew
i ! : (C) @™ T
138, %H &I 37;1"_“33 W wfeur < ded foreh ‘Matki’ is a popular folk dance of which
w@g_ﬁm SR R T HE g ? of the following states ?
(A) 31T 18 (B) 3= 21 (A) Bihar (B) Madhya Pradesh
(C) =215 (D) FT=T9 (C) Assam (D) Rajasthan
i i rson’s right to 142, A ﬁ@m@ﬂ_\
Which Article protects a perso g T 9 T AT R | <] T g S
travel abroad under Indian Constitution ? (A) > \_/__EU ' '
(A) Article 18 (B) Anicle 21 (B) AR R ' s
(C) Article 15 (D) Anlfle9 (C) Rraum
139, Frefafad § | Al T2 E@H ;. [ (D) yruRmE '
Bl N I Recently, Aurangabad, a city located in
(A) g (B) g9 : Maharashtra has been renamed. What is
C) gy (D) WA the new name of it ?
© 3 , b pollaoatios : (A) Chhatrapati Sambhajinagar
’Find the Jovian Planet among the following : (B) Chhatrapati Shivajinagar
(A) Earth - (B) Uranus E (C) Shivdhara
(C) Mercury (D) Mars ! .(D) Dhgrashnv
L msm—— o — e b e R A s e » -
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(A) A EETe
(B) qﬁé@’djﬁﬁw

(C) faaeTe wmaTe
(D) HiATS! AU
Which one among the following
museums showcases life of Tamils

during Sangam age ?

(A) The Napier Museum

(B) Fort St. George Museum

(C) Vivekanand Museum

(D) The Keeladi Museum

fafafes d@ @
Teanfrer S feran @ 2

(A) Jméuneg (7q:fawa fafera fgm)

(B) JTEHIHIR (Wi fafeRen
FIEUH TREg) :

(©) Hifs @M (W ¥Ra  gited
BESIERIRIYY il

(D) T (1Raet ydta Srgfesm &werm) :
Which one of the following Indian

Institutions has  released  “Ethical
Guidelines for Al in Healthcare and
Biomedical Research”?

(A) IMS  (Interdisciplinary =~ Medical
Sciences) ' v

(B) ICMR (Indian Council of Medical
Research)

(C) NITI Aayog (National Institute for
Transforming India-Aayog)

(D) AIIMS (All India
Medical Sciences)

wre # st (A Hfeafed i)
[VOC _ (Vercenigde _ Oostindische
Compagnie)] 1_Te4

fopaes gra fpan R A1 7

(A) = (B) WH

(C) gmTed ) fafemr
The VOC (Vereenigde Oostindische
Compagnie) in India was formed by
which of the following ?

(A) Dutch (B) l“l‘t':l?Ch

(C) Portuguese (D) Brmshv
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e X /
EI;J ;ﬁ‘r?:'aﬁwrnﬁ e i ST
A 61 = 77 % oo Coaren
AH_ 3 TRA 3079 1797
SVITH 31T T F1 e § 3 e
TR EGicRE D A
(A) fafen (B) 7MH
(C) & . (D) I
Recently, Indian Army conducted flood
relief exercise named “Jal Rahat” to
validate = joint drills and coordinate
preparedness by multi-agency flood
relief columns, this exercise was
conducted on which of the following

Eal
Zm

rivers of Assam state ?
(A) Dihing (B) Mana
(C) Barak (D) Kopi
148. Treeiehe=t ¥ 319 1 GHwd 87
TA) J oA Gl HI famH 2 |
(B) I8 Aol T &1 fam 2 |
(C) I8 WM & hIgi &l ITH HTI fa7= 2 |
(D) I8 W UTei &1 s 2 |
What do you mean by Silviculture ? /2
(A) It is a science of forest farming. @
(B) Itis a science of fish farming.
(C) 1Itis a science of growing silkworms.
(D) Itis a science of rearing sheep. '
149. fr=faRaa § | form grrer wwme 3 $= s
T H G R Yo Hb AR S
1At 31 off 7 :
(A) I . (B) WEft -
(C) wmgsgl «— (D) —
The East India Company was given
germxgsnon to trade duty free in Bengal
Ey which among the following Mughal

A) Akbar ‘
a
éC) Shahjahan §B§ k‘gfar;]gggeb 29
150. fy=iferfaa o & o e & el
N SRS X h_ 1Y
= wWaWier
(A) SieTieg (B) +Ie=g
(C) (D)

Thin 1 ; A
}\Ilel:Lh among the following is the
v ll&, est pcaksﬂot the Western Ghat that is
also the UNESCO-World Heritage Site
With rich biodiversity ?

A) Kolaribetta (B) Kodachadri
C) Anamudi (D) Meesapulimala
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